
150 a. A = 117,5  112,25  11-2 = 117,5+2,25+(-2) donc A = 117,75. 

 

b. B = 
65,1 × 61

65
 = 

65,1+1

65
  

donc B = 
66,1

65
 

On en déduit que B = 66,1−5,  

soit B = 61,1. 

 

c. C = (1,53,5)2  1,5 –7,5 

donc C = 1,53,5×2  1,5 –7,5= 1,57  1,5 –7,5 

On en déduit que C = 1,57 + (–7,5)  

soit C= 1,5 –0,5  

 

d.  D = 
3210,6

(323,5)3 × 32−1
  

donc D = 
3210,6

323,5×3 × 32−1
= 

3210,6

3210,5 × 32−1
 

 

donc D = 
3210,6

3210,5+(−1)
 = 

3210,6

329,5
 

On en déduit que D = 32 10,6 –9,5, 

soit D =321,1. 

 

 


